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Solutions to smp-3003-3/PSYU

Worksheet

Problem quickname: 3003

1)
Calculate the result.

a) 36 - 80 = 2880
d) 18 - 500 = 9000
g) 24 - 900 = 21600
j) 37 - 50 = 1850

2)

Calculate the result.
a) 76 - 9500 = 722000
d) 92 - 7100 = 653200
g) 69 - 7000 = 483000
j) 93 - 8000 = 744000
3)

Calculate the result.

a) 66 - 900 = 59400
d) 28 - 500 = 14000

g) 24 - 300 = 7200
j) 41 - 500 = 20500

4)

Calculate the result.

a) 67 - 1000 = 67000
d) 30 - 100 = 3000
g) 76 - 100 = 7600

i) 6 - 100 = 600

Good Luck!

www.dw-math.com

b) 9- 50 = 450
e) 57 - 500 = 28500
h) 22 - 400 = 8800

¢) 77 - 60 = 4620

f) 62 - 30 = 1860
i) 87 - 30 = 2610
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b) 47 - 3700 = 173900
¢) 62 - 7800 = 483600
h) 64 - 1500 = 96000

c) 36 - 4200 = 151200
f) 92 - 150 = 13800
i) 34 - 5200 = 176800

b) 5-30 = 150
e) 61 - 70 = 4270
L) 13- 60 = 780

b) 47 - 100 = 4700

e) 71 - 10000 = 710000

h) 18- 1000 = 18000
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c¢) 15 - 500 = 7500
f) 63 - 700 = 44100
i) 37 - 6000 = 222000

c) 9-1000 = 9000

i) 84 - 100 = 8400

f) 49 - 1000 = 49000
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